1.1.1 <60
Yang,W 2009 039 042 3.1%
Hyun,D 2016 -1.56 0.74  1.0%
Tang,C 2016 -0.67 0.28  6.9%
Gao,F 2016 -0.51 0.26  8.0%
Zhu,N 2017 -0.73 0.28 6.9%
Liu,F 2019 -04 012 37.5%
Subtotal (95% CI) 63.4%
Heterogeneity: Chi? = 3.86, df = 5 (P = 0.57); I = 0%

Test for overall effect: Z = 5.38 (P < 0.00001)

1.1.2 =60

Shi,C.S 2016 -0.46 025 86%
Song,M.J 2016 -0.53 0.34  4.7%
Kim,M-Y 2017 -0.65 0.25 8.6%
Endo,K2018 -0.51 0.41  3.2%
Lee,H 2018 0.06 0.44  2.8%
Shimose,S 2019 -0.73 0.25 8.6%
Subtotal (95% CI) 36.6%
Heterogeneity: Chi® = 2.74, df = 5 (P = 0.74); I* = 0%

Test for overall effect: Z = 4.46 (P < 0.00001)

Total (95% ClI) 100.0%

Heterogeneity: Chi* = 6.69, df = 11 (P = 0.82); I* = 0%

Hazard Ratio

0.68 [0.30, 1.54]
0.21[0.05, 0.90]
0.51 [0.30, 0.89]
0.60 [0.36, 1.00]
0.48 [0.28, 0.83]
0.67 [0.53, 0.85]

2009
2016
2016
2016
2017
2019

0.61 [0.51, 0.73]

0.63[0.39, 1.03]
0.59 [0.30, 1.15]
0.52 [0.32, 0.85]
0.60 [0.27, 1.34]
1.06 [0.45, 2.52]
0.48 [0.30, 0.79]

2016
2016
2017
2018
2018
2019

0.58 [0.46, 0.74]

0.60 [0.52, 0.69]

Hazard Ratio

il

Wl
|

d.95%¢C1

Test for overall effect: Z = 6.98 (P < 0.00001) 0.05 O‘ILZACE—*RFA‘I TACE s 20
Test for subgroup differences: Chi? = 0.09, df = 1 (P = 0.77), I? = 0%
Hazard Ratio Hazard Ratio

Study or Subgroup _log[Hazard Ratio] SE Weight IV, Fixed, 95% ClI Year IV, Fixed, 95% CI
1.1.1 <60
Tang,C 2016 -0.67 0.27 15.8% 0.51[0.30, 0.87] 2016 -
Subtotal (95% CI) 15.8% 0.51[0.30, 0.87] -
Heterogeneity: Not applicable
Test for overall effect: Z = 2.48 (P = 0.01)

1.1.2 =60

Shi,C.S 2016 -0.73 03 12.8% 0.48[0.27,0.87] 2016 o
Song,M.J 2016 -0.52 0.2 28.8% 0.59[0.40,0.88] 2016 —
Kim,M-Y 2017 -0.97 019 31.9% 0.38[0.26, 0.55] 2017 -

Endo,K 2018 -1.03 0.33 10.6% 0.36[0.19, 0.68] 2018 -

Subtotal (95% CI) 84.2% 0.46 [0.36, 0.57] L 4
Heterogeneity: Chi? = 3.29, df = 3 (P = 0.35); 1= 9%

Test for overall effect: Z = 6.72 (P < 0.00001)

Total (95% Cl) 100.0% 0.46 [0.38, 0.57] *
Heterogeneity: Chiz = 3.45, df = 4 (P = 0.49); I2 = 0% k + + d
Test for overall effect: Z =7.16 (P < 0.00001) L 01 TACE*RFA1 TACE . 100
Test for subgroup differences: Chi? = 0.16, df = 1 (P = 0.69), 1= 0%

Hazard Ratio Hazard Ratio

s s I Ratio] SE Wei Fi 95% CI 3 /. Fi 95% C
1.1.1 <60

Yang,W 2009 0.07 0.39 6.4% 1.07 [0.50, 2.30] 2009 D
Kim,J.w 2011 -0.17 0.22 20.2% 0.84[0.55, 1.30] 2011 =
Peng,Zw 2012 -0.82 0.27 13.4% 0.44[0.26,0.75] 2012 -

Peng,Zw 2013 -0.64 0.23 18.5% 0.53[0.34,0.83] 2013 -

Tang,C 2016 -0.71 0.26 14.5% 0.49[0.30, 0.82] 2016 T

Subtotal (95% CI) 73.1% 0.61[0.49, 0.77] 4
Heterogeneity: Chi? = 6.81, df =4 (P = 0.15); 12 = 41%

Test for overall effect: Z = 4.27 (P < 0.0001)

1.1.2 =60

Shibata,T 2009 -0.01 0.41 5.8% 0.99[0.44,2.21] 2009 -1
Morimoto,M 2010 -0.33 0.36 7.6% 0.72[0.36, 1.46] 2010 -
Lin,Jj 2013 -0.21 0.35 8.0% 0.81[0.41,1.61] 2013 - 1
Song, M.J 2016 -0.86 0.42 5.5% 0.42[0.19,0.96] 2016 — =
Subtotal (95% CI) 26.9% 0.72[0.49, 1.04] -
Heterogeneity: Chi? = 2.32, df = 3 (P = 0.51); I = 0%

Test for overall effect: Z = 1.75 (P = 0.08)

Total (95% Cl) 100.0% 0.64 [0.52, 0.77] L 4
Heterogeneity: Chi? = 9.64, df = 8 (P = 0.29); 12 = 17%

Test for overall effet.:t Z=456 (P.< 0.00001) . 0.$’ACE+RFA1 RFA & L
Test for subgroup differences: Chi? = 0.51, df = 1 (P = 0.47), > = 0%

Hazard Ratio Hazard Ratio

Study or log[Hazard Ratio] SE Weight IV, Fixed. 95% Cl Year 1V, Fixed. 95% CI

1.1.1 <60

Kim,J.W 2011 -0.3 031 10.3% 0.74[0.40, 1.36] 2011 —

Peng,Zw 2012 -0.76 0.23 18.7% 0.47[0.30, 0.73] 2012 -

Peng,Zw 2013 -0.55 0.22 20.4% 0.58[0.37,0.89] 2013 -

Tang,C 2016 -0.65 0.26 14.6% 0.52[0.31,0.87] 2016 =

Subtotal (95% CI) 64.0% 0.55[0.43, 0.70] <

Heterogeneity: Chi? = 1.51, df = 3 (P = 0.68); I> = 0%

Test for overall effect: Z = 4.78 (P < 0.00001)

1.1.2 =60

Shibata, T 2009 -0.08 0.66 2.3% 0.92[0.25, 3.37] 2009 e

Morimoto,M 2010 0.09 04 6.2%  1.09[0.50, 2.40] 2010 A

Lin,Jj 2013 -0.51 0.29 11.7% 0.60[0.34, 1.06] 2013 /]

Song,M.J 2016 -0.14 025 15.8% 0.87 [0.53, 1.42] 2016 ==

Subtotal (95% CI) 36.0% 0.80[0.58, 1.11] <

Heterogeneity: Chi? = 1.75, df = 3 (P = 0.63); I> = 0%

Test for overall effect: Z = 1.31 (P = 0.19)

Total (95% Cl) 100.0% 0.63 [0.52, 0.77] *

Heterogeneity: Chi? = 6.56, df = 7 (P = 0.48); I = 0% 501 o P 00

Test for overall effect: Z = 4.61 (P < 0.00001)
Test for subgroup differences: Chi? = 3.30, df = 1 (P = 0.07),

12=69.7%




